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QUESTION 1

Which of the following is a disadvantage of implementing a Bring Your Own Device (BYOD) policy in a company? 

A. Increased cost for licensing mobile applications 

B. Configuring the corporate e-mail server to work with mobile devices 

C. Inability to control access to company data if the device is stolen or lost 

D. Providing training for employees on how to use mobile devices with company applications 

Correct Answer: C 

 

QUESTION 2

What is the distinguishing difference between a LAN and WAN? 

A. A LAN is a group of networked computers within a confined geographic area. 

B. A WAN is a group of networked computers within a confined geographic area. 

C. A LAN typically provides slower network connection speeds than a WAN. 

D. A WAN is commonly used for intra-office communication. 

Correct Answer: A 

 

QUESTION 3

Mobile computing has become a common necessity for both personal and business transactions. Which device has
features similar to a smartphone but usually does not have telephone capabilities? 

A. Portable media player 

B. Netbook 

C. Laptop 

D. Tablet 

Correct Answer: D 

 

QUESTION 4

The capabilities of cellular networks have improved greatly since their original development for analog voice phone
calls. Most recently, fourth-generation (4G) wireless supports a variety of data-intensive needs. 

A benefit of 4G networks is that they: 
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A. Use spread-spectrum technology to ensure high transmission rates. 

B. Provide fast transmission rates equivalent to DSL or broadband-cable. 

C. Provide fast transmission rates equivalent to high-speed dial-up connections. 

D. Enable bandwidth throttling, allowing the user access to unrestricted download speeds. 

Correct Answer: B 

 

QUESTION 5

Which of the following is a security threat commonly associated with cloud-based services? 

A. Malware 

B. Phishing 

C. Hypervisor vulnerabilities 

D. Operating system vulnerabilities 

Correct Answer: C 
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